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Question ID: | 100160
Question

Type:

Numeric Answer




39N BRUIDT DOBOTY BVZT®T BOIRET ToTH) mA.
4k 1 Iy,
Question: VWA = =
L
z

(100-120) V /—_Z V,=60 V< 10 kO
Topic: Chemistry-Section A
Item No: 61
Question ID: 100161
Question Type: | MCQ

D — 1 0 2o Ted — 11 D, BROOR

adéé -1 ﬁéé - 11
(Boo3n3) (e2%0)

(A) BrF; ) ns (o)
Question:

(B) [CrF P~ II) Pseod aTnREOD

(C) O, (I) 23RO 25 RTINRECH

(D) PCl, (IV) ©gdazeod

§9NT SodNYY BOIRT LUITT/), OR :
A (A) - (), (B) - (ID, (C) - (11I), (D) - (IV)
B: (A) - (IV), (B) - (11I), (C) - (1), (D) - ()
C: (A) - (ID), (B) - (IV), (C) - (), (D) - (III)
D: (A) - (1), (B) - (IV), (C) - (1), (D) - ()
Topic: Chemistry-Section A
Item No: 62

Question ID: | 100162




Question

Type: MCQ
FSAT ﬁéiodbmi BRODA
(A) (B)
Do/ 08 o3RGS
(A)  250,(g) +O,(g) — 2505(g) (I)  Fe(s)
Question: (B) 4NH,(g) +50,(g) — 4NO(g) + 6H,0O(g) (I)  Pt(s) — Rh(s)
(C) Ny(g) +3H,(g) —» ZNH;(g) (III) V5,05
(D) m‘ﬁé&ﬁﬂ ebﬁ (ﬁﬁéci ebﬁr) (H+H,— ﬁﬁézéﬁé 30% (IV) Ni(s)
(BF78)(s)
SN E:Soﬁ%ﬁ@;@g y folevbrin w%ﬁd@d &0 :
A (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
B: (A) - (D), (B) - (D), (C) - (D, (D) - (IV)
C: (A) - (IV), (B) - (ITT), (C) - (1), (D) - (IT)
D: (A) - V), (B) - (1), (C) - (LI), (D) - (I)
Topic: Chemistry-Section A
Item No: 63
Question | 100163
Questi
T;Jpees: on MCQ
BYNTE AT ée@‘éﬁ@mgl QeRT.
Bewd I Clp 903 3ReBS0T w:y 3QeOT'T TOWIED SRT DTFTLT.
Question: | SBewd II : SEC Ve T enny 3% OIPTONVR BFPNY VRO (RITF) ITB[IERNY
&%,808 BRFTINT.
39N BoRNYY FOOINT YVST HOX :
A: e | &53399 Be0d I QTBRR ZOOITONE.
B: Bews 1 DB Bews 11 QTBER BTN,




C: Deed I X0 <78 Jewd 11 émwﬁd

D Bewd 1 3NS 5T Bevd 11 K0 9T,

Topic: Chemistry-Section A

Item No: 64

Questi

Dot 100164

Questi

T;pees: ion | \ica
EReT-TReTTe0 ATTR (D) VTRITJI, WOTOIRNY WYFOMTY ©WF0Z8 Brohd

Question: i & = L
(mimmas) O3RPMRN SRETRLY :

A: R TRETTED ROTNE

B: BT BRFTED WOTRND

c: B0T AWT ITHF VNI

D: Eﬂﬁo%ﬁ@ﬁoé ei@eﬁgaﬂﬁ@eg TR WDeRd 3ReVDIWD

Topic: Chemistry-Section A

Item No: 65

Question ID: | 100165

Questi

T;Jpees: ion MCQ

Question: | Hy0, OF Q58 38 cvosd@nmad somodeenHsmd $$NIIYnTQ ol ?

A: oNvinlelevsn)

B: @amF%%w

C: TONFT &

D: QP

Topic: Chemistry-Section A

Item No: 66

Question ID: 100166

Question Type: | MCQ




BeCl, 803 LiAlH, R8FATRN ¢u0Rndmd/&e.

(A) AICI,

(B) BeH,
Question: (C) LiH

(D) LiCl

(E) BeAlH,

£O03RE ITT)
A (A), (D) 3 (E)
B (A), (B) 333 (D)
c: (D) =3 (E)
D. (B), (C) =&, (D)
Topic: Chemistry-Section A
Item No: 67
Question | 100167
Questi
T;pees: ion | vica

o 23@@6336553?6)4 QATONT Lowen’ @Kbiacfo. fac\ﬁaﬁaol X & 3 (FRRW) ARPINW m@% YT 6

QUESHON: | () mmmane 405008 FemORLEENG. X T Y’ Hed FHmoN
A B(OH), 333 NH,
c: B,H, 3 HN,
Topic: Chemistry-Section A
Item No: 68
Question ID: 100168




Question Type: | MCQ

Question: YN 13;030?1%"&2 03T0YTD WATIVTRIT FONN SVTTOTTFBOITONTS 9
B: 2NO, +H,0 — HNO, + HNO,
c: MnO; + 4HT +3e~ — MnO, +2H,0
D: 3MnO3~ + 4H' — 2MnOj +MnO, +2H,0
Topic: Chemistry-Section A
Item No: 69
Question
D- 100169
Question
Type: MCQ
KMnO, &), 85 SRGRTQY swdF SFHBR00N 3800 SRR KMnO, T 3@ 3¢0¢
Question: | 2ep3y) SVICTPMHT. 81 IOPODY JRONICTT WITFED TOBFODY YVOLRMIT 2
WBCRRBORD -
A: )
B: 1
C: 7
D: 2
Topic: Chemistry-Section A
Item No: 70
Question ID: 100170

Question Type: | MCQ

CIECHE ~5-A4B

Question:

PoORTRTY 0T §0I» ToITYS A I, B nisd FzHamen :
A C,H, @3 Cl,
B: CHCl, 3% H,




L]
C: CH, a:‘oégﬂ HCl1
D: C,H, a3 HC
Topic: Chemistry-Section A
Item No: 71
Question
D- 100171
Question
Type: MCQ
100 mg ODT, pRIFARLPTOC DY) LT ST SOTFOTT, BeTF BRLY FNTYNPY cvscipenmdss
Question: = i o
N sva dog, ot 9
A: B WEETTED
B: 2-5 ©B g BR¥S0D 1IDTHES
C: Splctchy]
1]
D: 303203 TLC (30TTT IeorBed)
Topic: Chemistry-Section A
Item No: 72
Question
D- 100172
Question
Type: MCQ
QTS ZRODT BREBLTOMFTBYT RLNDT B WO IPFTTIT 3ReT'S $odNY
Question: =
Y wagh soew -
A D (RFAETFIY) ABYS weowory
B: TORIT RODI
C: W0 TRRIS Y SVOEIIMO NG
D: SHRDLTYT HSBRLENOT TOTOR
—
Topic: Chemistry-Section A




Iltem No: 73

Question ID: 100173

Question Type: | MCQ

Question: BN ﬁoo:iwiﬁ@;cg O3 eféd@ea‘méwﬁi E‘ﬁﬁg_)ﬁ 9

ot

Topic: Chemistry-Section A

Iltem No: 74

Question ID: | 100174

Question
Type: MCQ

89N soodh weotmrdE TRND GBI A T B AU, 30@BANO
Question:

[Ag(NH,),]* OH , _ NaBH,

Ll Ll

O
N

HO




O
A: - é @
H  CH,OH CH;_.OH
H OH
B: - @ @
H CHO CH,OH
& OH
C: N é @
H COOH COOH
o OH
D: N é @
H COOH CH,OH
Topic: Chemistry-Section A
Iltem No: 75
Question 1409175
Question MCQ

Type:




FYNT 03PT FOIWTVOOID 2.0TH BREFIT), 0" SDNACHITF By (PhMgBr) Sweobnt
BIFY DTOR SERLTVS DT
Question: Ph
|
Ph- (IT —OH
CHj
A CH,-C=N
B: Ph—-C=N
O
C: Il
CH;—C—-O-Ph
Ph—C—CH,
D: Il
O
Topic: Chemistry-Section A
Item No: 76

Question ID: 100176

Question Type: | MCQ

TNODT FONODY LVOEPMDT TN YTSORW :

OCH,

Question:
O,N
(i) Na/liq.NH;

(ii) CH;CH,OH

OCH,

O,N




OCH,

H
B:
H,N

OH

C:
Oﬂ$_WE:f:]
OCH,
H
D: 02N
Topic: Chemistry-Section A
Item No: 77
Questi
Dot 1100177
Questi
T;pe; ion MCQ
NI ﬁdme“&o&w OITT/MNT BOOTRT Rc.\pcﬁéo:b BTRY) :
*N,CI~ N3 Cl™ N, Cl~
N3 Cl™
Question:
(A) (B) (©) (D)
OCH; NO, CN

A (4) > (B) > (C) > (D)
B: (A) > (C) > (D) > (B)




C: (©) > (A) > (D) > (B)

D: (©) > (D) > (B) > (A)
Topic: Chemistry-Section A

Iltem No: 78

Question

D- 100178

Question

Type: MCQ

Question: Egpﬁs tﬂ&’pﬁ ai}:e’gp m@*atﬁde‘.’)ea‘f ﬁéﬁ@ﬁ%‘b DEFA WROHD mmFﬁﬁ%‘er om@cﬁabti %fﬁb%ﬁ.
A: 'ﬁéés‘-’“ HOIPNT DPWRFT
B: LR (RReW)

C: e:eéaf BHOIRAT RVWET
D: BHOITONT LS DIOLET
Topic: Chemistry-Section A

Iltem No: 79

Question ID: 100179

Question Type: | MCQ

Question:

BNOOIYNTY, CIRFT VTBACFOD KSoPNE 9

/OH

H—-C
H-C—OH
HO—(l.'—H O
H-COH
H-C

|
H




HOCH H
20
B: H H
H OCH,4
OH OH
H H CH,OH
HOH,C 5 ’
c. H H H H
' O
H H
OH OH HO OH
OCH,
H OCH;
H OH
D: HO H
H OH
H OH
CH,OH
Topic: Chemistry-Section A
Item No: 80
Question 1 400180
Questi
T;Jpees: ion | \1ca
IR QO TeINYR, RT. 1ot JIWNTN (A) BN I3LOW BT (R) SNE.
B2T@S (A):  CH,Cl 68 w297 03 dwrdeod AlCk n¢ Jodeens §0HoDY o 03
P03 ST AWRRL.
Question:

508 (R) : @ROTFT —NH, mMoxd dROD (AFENIT) 30 sdte AlCL Brd owmee
FOIBTIHTVHEOOT Mm-S SIOT NN VRNBOIBRIZT.

eI TewIRYDY, MR, FENT SoRNYY TOOIRT LWITHR, BOR,




A (A) 3 (R) fisd dwewnas (R) & (A) i ZO0IRT Bew§odmnas.

B: (A) 2 (R) A% dzwens «TS (R) ) (A) § Fockes Bevdoimng.

C: (A) dz=NT STS (R) 3TNS

D: (A) B8NS 8STT (R) dBTONT.

Topic: Chemistry-Section B

Item No: 81

Question

D- 100181

Ques.tion Numeric Answer

Type:
Clein! (a‘:aegﬁ BRRT) TAL @cﬁr{%ﬂmol 0P QIeTRRPA i{ged@e@efﬁ)& BeTERR (Clatel))
48 ppm FSK% Mg =od80d 2L C@Jﬁs‘aﬁm& 030 T. 8 WRTYT Mg TTTI0EONT

Question: Roa30d xx 102 BOSREDRNS. TMIT 1 § BPO . (RNeTT BomoFos)
(B3 : Mg & TTwoerd Tdadd 24 g mol 1 Ny =6.02x10% mol )

Topic: Chemistry-Section B

Item No: 82

Question

D- 100182

_?;pe;tion Numeric Answer
20T B[RLHT WD) GIRT WwIery 8@ 40% TI) TICH FEEKDT BRODS.

Question: | SROTERT 2., WIBR 2.2 PTT SN J[RERTT ©038 wITPY . (Réwezw
Tpeor o)

Topic: Chemistry-Section B

Item No: 83

Question

D 100183

Question

Type:

Numeric Answer




SERTI Feriey BRERT BN x FTDODTT, TN, ST’ STOT 07, ) JRERT I
Question: | JTVWWMOFPTD. x I a@@z@) L (RNEeTT TRTS0FOD)
(T8 - a@‘%&ﬁ 00803 9.1x107 3 kg B, mééaaﬁ Tododd 1.6 X10~% kg)
Topic: Chemistry-Section B
Item No: 84
Question
D: 100184
_CI_)ue§tion Numeric Answer
ype:
298K 33 latm &IRTY 24 g IR, 3QT oD, 13002 HBERD NWTTY VHT SIRT
TAFTY BHLIONT. TR0 NeWT'S ToBF 298 K Q0T 300 KR Sespromicd. 393 e0
CEMDN Q050 WBTIRBOI —rkfmol ~! SN, TMTT x T IPOFY)
Question:
(BAETT TSRFsoF OF)
(TE : 23008 TWBERD VTS T FIFFP 200k K™ ond. 393 o), a’océ TOWF S’
DOT ZTDWA)
Topic: Chemistry-Section B
Item No: 85
Question
D: 100185
1Q_ue§tion Numeric Answer
ype:
2,070 WeFT'RY 800 mL I, 0.5M &85 SI[TY, Fo0WAT, VWS M) WTFE, VLOIVZ/D
Y 115 MRRFIR, FF SR SQIRHOBT. WIT JWF e [IRNeT PBpeceddodd
Question: | | «10-2M ©Ad. x 3 SR . (RO0eTE BererRoss)
(T8 : §35° ST BeeRT TodOR 63 gmol ™! SAT)
Topic: Chemistry-Section B
Item No: 86
Question ID: 100186

Question Type: | Numeric Answer




83 30dmen 298 K 39 Xah3reews Q0HT008y) 2x 10D «nd.
Cu(s) +2Ag™ (aq) = Cu®*(aq) + 2Ag(s)
HRORT oD TNBREVT ACHIVOTTY)

Question:
Ly B A i
ECu (aq) + Ag(s) = 5 Cu(s) + Ag ™ (aq)
rx107% o, x & IR0 . (RENeTT TrmoFos)
Topic: Chemistry-Section B
Item No: 87
Question
D- 100187
Question .
Type: Numeric Answer
Fe,O, Q0T &OwWd &f\fae@*a’sﬂa a’zﬁwza BROTO @n’@‘éa—on’ow BT Tee
Question: o
TRIBEDY (F) . (BxemT TreeorFoad)
Topic: Chemistry-Section B
Iltem No: 88
Question
D 100188
_?;pees:tion Numeric Answer
A—-2B+C gofnmﬁ 3033080 A & HoT3030 BN 0.5 m:eg 1.0mol L1 rf%faigd Cloprat
Question: | @geFodINsd Fdwen 100 Fow =B 50 FFoARETEN.  dodhod TEE (B) I
. (RENETT  TpTmeFOT)
Topic: Chemistry-Section B
Iltem No: 89
Question
D- 100189
Question .
Type: Numeric Answer
[Co(HzO)&]'-C‘l2 ReICY) [Cr(Hzo)&]Cl3 Ny P RPZ T02 @méré’oda Kﬁ"@@)éﬁ%? 2T
Question: =

3FRD)




Topic:

Chemistry-Section B

Iltem No: a0
Question
D- 100190
Ques.tion Numeric Answer
Type:
RRODF T B98S FITTY, Bonex” ERLOTIR0DNR BIFA YO, X B, VeDIW. X IYI
Question: il

BBRRTNY FOB,00




